-8 \Y L o Y M C
http://farbe.li.tu-berlin.de/DEQ8/DEQSLONP.PDF /.PS; vector graphic VG; start output, page 1/-_

-: N: no 3D-linearization (OL) in file (F) or PS-startup (S)

Equal 9 step grey scaling betweeb* gan=4.0 andL* gqn=96.0, Yoref=0.4, normalisation: whiteW
L*OaN=4-0xL*OaU:5O-OvL*OaVFQG-OxYOaN=O-4xYOaU:18-4vYOaW:90-0xCOaY:YOaV\ﬁYOaN=203-2

Equal 9 step grey scaling betweeb* gon=4.0 andL* gaw=96.0, Yoref=1.8, normalisation: white W
L*OaN:4-OvL*OaU:50-OvL*Oa\AFge-OvYOaN:OAvYOaU=18-4vYOaW:90-OvCOaY:YOaV\ﬁYOaN:203-2

T 0 L* A\ L*n=7.6,%ta=50.4, L*50=96.0, %ian=0.8, ta=18.7, ian=90.0, Ctay=Ytaw: Yian=107.3 L* N\ L*N=16.5,L%a=51.6,L*z0=96.0, Ytan=2.2, Yia=19.8, Y;an~=90.0, Cay=Yiaw: Yian=40.9 N
o@ 100+ n0.i L*0a L*Or YOa YOr :L*ta AlL*a L*r Yta (L*r) L/1.05(L*tr) 1/1.05-|*or 100+ n0.i L*0a L*Or YOa YOr :L*a Al*a L*r VYta (L*r) L1.19(L*tr) 1/1.19| xor 5 C
=@ ()9 90 10 900 10; 960 1.0 900 1,000 0,000 ()9 960 10 90 10 9.0 1.0 900 1,000 0,000 S W
3.9 3 11.4 3 11.2 ga
o : :
QD 2 8 845 0875 650 0721 845 0.87 651 0875 -0,001 8 845 0875 650 0721 847 0.858 655 0,879 -0,004 g_«_:_
5.2 3 11.4 3 11.2 own
: : S
o= 75T 7 730 075 452 0499 73.1 0.741 454 0,752 -0,002 75T 7 730 075 452 0499 73.6 0.718 46.0 0,757 0,007 o
3 ® 114 1.1 =N
= 6 615 0625 298 0328 617 0.612 30.1 0,626 -0,001 6 615 0625 298 0328 625 0579 310 0,632 -0,007 3=
el 11.3 10.9 8 N
g_s 501 @5 500 05 184 0.20;1 50.4 0.484 187 0501 -0,001 501 @5 500 05 184 0.20;1 51.6 0.442 198 0,504 -0,004 cé §
=] : 11.3 : 10.5 =
: : g
Eg @/ 385 0375 104 0111 391 0.357 107 0,375 0,000 @ 385 0375 104 0111 411 0.309 119 0,373 0,002 =
E = ; 111 ; 98 o 8
oc @3 270 025 51 0.052 28.0 0.231 5.5 0,248 0,002 @3 270 025 51 0.052 31.2 0.185 6.7 0,242 0,008 =1 IU
O e 257 ! 106 257 ! 85 om
;:'% @2 155 0125 20 0017 17.4 0111 2.4 0,123 0,002 @2 155 0125 20 0.017 22.7 0.079 3.7 0,118 0,006 5_8
g_ S5 3 9.8 3 6.2 g S
o) & @' 40 00 04 00 ' 76 00 08 0,000 -0,000 @: 40 00 04 00 ' 165 00 22 0,000 -0,000 S'm
= o 0—- AL*1;=11.5 (i=1,2,...,9) normalisation: Ytaiw=Y0aWM 5-0 0001 0+ AL*5=11.5 (i=1,2,...,9) normalisation: YtaiW:YOaWM 5200001 QO
2 m a o Yoaw Yoret =0 a o Yoaw Yoref = o @
o DEQ80-3N DEQ81-3N e
Q’g Equal 9 step grey scaling betweeb* gon=4.0 andL*5,w=96.0, Yorei=90.0, normalisation: whiteW | [Equal 9 step grey scaling betweeb* gon=4.0 andL* 5a\w=96.0, Yorei=3.6, normalisation: white W o %’
o5 T 0ane4-0, L* 02=50.0, L* 0a1=96.0, YoanF0.-4, Yoaum 18 -4, Yoan=90.0, Coav=Yoawi Yoan=203.2 [0an=4.0, [¥0aU=50.0,(%0a=96.0,Y0a=0.4, Yoa~18.4, Yoau/=90.0, Coay=Yoaw/ Yoan-203.2| &' 55
=m L* A L¥N=73.0,L*a=78.6,L*121=96.0, Yian=45.2, Yia =542, Yiaw=90.0, Ciay=Yiaw: Yian=2.0 L* A L*n=23.3,L*a=53.1,L*151=96.0, Yian=3.9, Yiau=21.2, Yiaw=90.0, Cay=Yiaw: Yian=23.1 o .
=0 100 n0.i L*0a L*Or YOa YOr : L*a Al*a L*r Yta (L*r) /2.0 (L*tr) Y2.0-*0r 100 n0.i L*0a L*Or YOa YOr : L*a Al*a L*r Yta (L*r) /13 (L*r) Y1.3-L*0r % Y
T ™ ()9 90 10 90 10 9.0 1.0 900 1,000 0,000 ()9 90 10 90 10: 960 1.0 90.0 1,000 0,000 o )
§ T 5.4 11.0 c I
' ' ~— .
%2 8 845 0875 650 0.721 90.6 0763 775 0,873 0,002 8 845 0875 650 0.721 85.0 0.849 66.0 0,881 -0,007 '8 T
= 3 4.8 3 10.9 =W
f 751 .7 730 075 452 049 858 0556 67.6 0,745 0,004 751 07 730 075 452 0499 741 0.699 469 0,759 0,009
= 4.0 10.7
g 6 615 0625 298 0328 818 0381 59.9 0,617 0,008 6 615 0625 298 0328 634 0552 321 0,633 -0,008 =
= 3.2 10.3 cC
> 1 @5 500 05 184 0201 786 0.241 542 0,491 0,009 1 @5 500 05 184 0201 531 041 212 0503 -0,003 w
g 50 : 50 :
Q : 2.4 : 9.7 3
@/ 385 0375 104 0111 76.2 0.137 502 0,370 0,005 @/ 385 0375 104 0111 43.4 0277 134 0,372 0,003 2
3 16 3 8.7 @
@: 270 025 51 0.05274.5 0.065 47.5 0,254 -0,005 @: 270 025 51 0.052 347 0.157 83 0,240 0,010 QL
257 3 1.0 257 3 6.9 o
@2 155 0125 20 0.017735 0.022 460 0,148 -0,023 @2 155 0125 20 0.017 27.8 0.062 5.4 0,118 0,007 8_
3 05 3 4.5 @
1 40 00 04 00 730 00 452 $,010Y -0,010 @: 40 00 04 00 ' 233 00 39 YO'OO\? -0,001 %
0+ AL*=11 i=1,2 normalisation: Yigiw=Yoaw 2t Yoref _ 0 AL*,.=11 i=1.2 normalisation: Yiaivy=YoawJ0air Yoref _
ta=11.5 (i=1,2,...,9) t@iW =Y0aWyz N et $=0,0001 ta=11.5 (i=1,2,...,9) taiw =Yoawy v 50,0001
DEQ80-7N DEQ81-7N
Test chart DEQS8; Equal 9 step grey scaling for four display reflectigps0,4, 90,0, 1,8, 3,6
_ between black*N=4,0,YN=0,4 and whitd_*\y=96,0,Y\y=90,0, normalisation: whité/ -
-6 ] M Y [0) L \Y -6




